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Please make sure that the printed pages in this quest&n paper are 24 in number
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The Code Na an.d Set on the right szde of the questmn paper should be wntten by
the candzdate cm. the fmnt page of the answer-book.
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Don’t leave blank page/pages in yr::ur answer—bnuk O
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Fe |

.Exce;:rt answer_bﬂgk no extra ‘sheet wIH be gwen Wnte to the point and do rmt |

strike the written answer. - _ | |
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(2) 1232/(Set : C)

x mﬂﬁmﬁa%,&mw 75, s [ T 7o # afaT T T 9 37 T
R ailr Saicqd 79l & TN Rl FH F AR T Ul
Candidates must write their Roll No. on the question pap
write anything on quESﬁDH p%er and don't make any mark on answe

type questions.

" Wﬁ?ﬁﬁma’?# Ei@’%ﬁww#z%ﬂﬁwg’ﬂfﬂﬁﬁ Wﬁmﬁ_
gy 7 % o AT &R T8 R |

Before answering the questm‘r@s ensure that yﬂu have been supphed rhe correct and
complete question paper, nq[;;clmm in this regard, will be entertained after
examination. -

G e -
(i meﬁw#é‘/ . | |
(i) 3T Fe7-9H 7 FT 38 797 & a?z% a7 G ‘o) "érjl ¢ j-"a"qa‘ g F §e T8 :
g e 59 @ #;waﬁ_ﬁ'w_l 720 W@ﬁ’ﬁ?ﬂmfv'é‘z % FT 1 6% &

GqvE fa-'.-_swg@vgﬁﬁwﬁwm #25 7 @m’ rrquwvé"; PE';"%‘E?E'Q 3
R
o SF;"@#W? yzaz;r;zﬁ #31 7% e g wa’é‘x ﬂa?%w:rs d??b?
F 8l
Y gﬁ@w#wwmaz 735 rmb e Wﬂ?ﬁgfﬁﬁaﬁfﬁ??‘é e—m?’%?
vy w . EED we
qug q’ ; 57 U8 7 J37 7E 36 #33 75 wﬁ?ﬂﬁ??fﬂﬁ?%‘ '
. e ﬁ 3 797 4 Gﬁ:?‘a:?.
{m} 3??’ ﬂ?ﬁ’—ﬂ?? % H?Weﬂﬁﬁfﬁ faﬁbﬁ? 1???'
g 7 ﬁ?f@ﬂ#m##wﬁwm

(iv) ﬁ@wh#ﬁmﬁw#mwwaww;
(v) MWWWWWWWWWW:

General Instructions :

er. Excepl Rﬂll No. do not
rs of -objective

_‘-“-cz"'fs':z

(1) ~ All questions are compulsory. it

1232/(Set: C)
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(3) - 1232/(Set : C)
(i) This question paper consists of 38 questions, which are divided into five
~ Sections : ‘A", 'B’, 'C', 'D' and 'E"; | E_”_'j | |
Section 'A' : It contains twenty questions %Gm 1 to 20. Each question
carries 1 mark. ::{:‘]
Section 'B' : It contains five questions from 81 to 25. Each question carries
2 marks. |
Section 'C': It contains six questions from 26 to 31. Each question carries
| 3 marks. | |
Section 'D' : It contains Jour questmns from 32 to 35. Each question carries
o mczrks |

Section 'E': It contains three questmns fftgm 36 to 38. Each question
carries 4 marks. -

%
(iii) . Internal choices are’ given in some questmns bj’thts question-paper. You have
to attempt one from each. ©

(iv) You must attach the given graphﬁpaper alﬂng— with your unswer-book.
(v) You must write your answer-book Serial No. on the graph-paper.

x ﬂu:'ig '
gug —

' SECTION - A
1. ot (E) A o 7 T ¥

A) x=0,y=0 | e f

B) x=0,z=0 -' E
; ™M
o\
& = (0 ﬁ
(C) x._ g
[D) Y= 0,z=0
1232{(331: e C) LIV g . 5 ! PTO
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4} 1232/( )

The equations of x-axis in s;ﬁ%e are :

['ﬂ

(A) x=0,y=0 O

| e

B) x=0,z=0 ©
(C) x=0

i

(D) y=0,z=0 %

2. I TAEl F TH TSI IV uumg ﬁrmq@wwmﬂwmﬁﬁmmf“_
.............. Bl | | 1

‘The probability of obtaining an even prime number on each die, when a pair of

dice is rolled 18 ....cut...... .

- 3. @aﬁﬁswwsﬁsﬁﬁ%%ﬁﬁs-ﬁlwﬁﬁqﬁww%ﬁzﬁﬁﬁﬁ%,a‘r
T OF A T @ A8 % e @ e . B | .

~ A bag contains 5 red and 3 blue balla If 3 balls are drawn at randﬂm mt‘hnut

replacement, the probability of gethng exactly one red ball s ........... ;

4.m%52ﬁﬁﬂﬁ—mﬁ%ﬁg§m%ﬁﬁaﬁmﬁ%ﬁﬁmaﬁ§,
T B W’@ﬁﬁwﬁw%..., ....... .

| 1
Two cards are drawn frnmﬁ well shuffled deck Df o2 'playlng cards with

replacement. The pmbablhty g@}mt bﬂth cards are queens is

llllllllllllll

5. W@Wﬁiﬂ%ﬁﬂﬁﬁ@gﬁﬂ%ﬂf N~—>Nf(n)

2n + 3 v ' g
QR T e R, @ F - e -' ”EN_'%’T
(A) ST , B) W% . . S
(@ w BCECEE L S

1232/(Set : C) - o L eass)
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(5) . ' +1232/(Set : C)
Let N be the set of natural numbers and -'theg?{functicin f: N — N be defincd by

")
fin)=2n+3V neN,then fis: o
| | o -
(A) Surjective (B) Injective
(C). Bijective (D) None D{i;r.these
i ' f’fJ '
O
. | BRN¢ Sl . ;
6. sin~'2x & H'd_%ﬂ‘: | 'f{% - -
(A) [0, 1] ' B [, 1]
1 1] - =
C) |-—,= | = )y =22
© -3 D) 2,2

_ The domain of sin™! 2x is :

(A) [0, 1] CE 2 B -
"y L - -
N T ) D) |2, 2 |
© |-33] D F22) #
7. HfE 3x 3D gl T ol @ g, R udw e 2w oA, Ay 1
| . ‘ . (1] - | o
A) 9 e J(EY W m
Tl SULEES
C) 81 | D) 512 o
Total numbers of possible matrices of ﬂi‘der 3 x 3 with each entry 2 or 0, are :
@ 9 B 27
| () 81 ' T oy Bg

} , 1232/(Set : C)
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L
Il

18 x| |18

@)

C) -6

9. AR A, 3x3FR F =

, then xis equal to :

S
I+
o)

:
-
% ¢262§75

2

Hras

s I

1232/(Set : C)

1

2 W adi. Al FAM S oootreninnnnns | 1

Let A be a non-singular square matrix of order 3 x 3. Then |a.dj~. Al 13 cqual

B seacnansisayi ’

10. x % Hﬁﬁi’lsin(iog X) & G’Iﬁ%&l‘&'{ e |

cos(l
(A) xgg X)

(B) cos (log x) |

cos(log x)

=

(D) T B

1232/(Set : C)

C262375
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0o ' .
(7)5 , 1232/(Set : C)
The derivative of sin(log x) w. r. t. x- is fé . | |
: T AN
A cos(log x) - O
A = -
(B) cos (log x)
(©) cos(log x) -
* %
(D) None of these %
(N
O |
11. cos x & AN sin x A FHTBAT vvorivnnnn.. %I- i - 1
The derivative of sin x w. r. t. COS X 1S feeereilliiten. .
12. Iex sec x{1+tar1x)dx AT © - - o | . 1

(A) e*cosx+c

S il S W |, (TR r— Rl TR
\
i

(B) e*secx+c

(C) e*sinx+c

e

(D) e*tanx+c

j e” sec x(1 + tan x)dx is equal to :

(A) e*cosx+c

C262375

(B) e*secx+c
(C) e*sinx+c

(D) e*tanx+c

1232/(Set: C)

bE:
b
;
e
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PR - ~ 1232/(Set : C)
/2 _ - 1
13. [ sin®xdx AN TR T oovrninne, | ) |
- [2 ' )
n[E uﬁ
The value of Ism x dx lsfgqual ¥ ; S ;
' -nt/2
-L'..}
14. g0 x* +y* =2 mwﬁa@'aﬂaﬁraﬁqﬂw% ' ' | -
(A) 4n T IHE
B) 2v2r 7 ERIH o ,
©) 4n% i gwE . EE -
| N IR .
D) 2T FEUEL L .

The area enclosed by circle x? + y? =2 is equal to :

(A] 41 sq. units
(B) 2+v2n sq. units
(C) _411'2 sg. Uunits
(D) 27 sq. units :{-‘J y
_ fﬂ
S s 512 i
15. 37gehd THIHT l+{-&;) 5_.%;5;13'[ ﬁﬁ'@ﬁ'{ﬂ]’ﬁ‘% 1
! ] | "a
A) 1,2 | | " (B)-:.2, 2 - |
€ @t | - D) 4,2 I e
- 1232/(Set : C) %g _ - e s
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1232/(Set : C)

(9) _
[ (ay V] a?
The order and degree of the differential equation 1+[Ey) = dx_g respectively
are : Ty - _
_ [
PR
a) 1,2 B) 2,2 {3
©)- 2,1 o 42 "
16. STEH THIHRT xa—y._sinx B AR B (LF) o gl 1
Integrating factor of the differential ﬂquatmn x%— y = sin xis assmmsssen ;
. B
-.} - 3 ' |
17. 9 ST AR @ R b W UBR E 6 |a | =9 R | B | m'?z,aa&' b T A%
Ry 8, AR d SR p B i F oy B ” 1
i -
A) = | s
(A) - (B)I :
o) 2 o ¥
) 3 o) 2
Let the vectors a and b such that | a | = 3 and |}_§| - _‘_/_5_ ti‘lf:ﬂ Ex'g is &
| g b
- Ly
unit vector, if angle between d and Hz; is : t;; w
TT : ‘AT
A) = ol . Y
sl B 7 O
(C n R
| 3 D)3

1232/(Set : C) |
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(10) 1232/(Se )

T3 o A A I HH
18. It dRY a=20+Aj+k T b-1+2;+3k qifss (orthogonal) g,
N

” 1
- SO |

37

* s B ‘ he valu f
If the vectors d = 21+kj-§f§c and b =1+2j+3k are orthogonal, then the valuc o

218 v .
L)

frerarerd g9 (19 azmﬁ#m?:&ﬁww 3T #RT (R), 797 % A9 [T T
IUYHT [T F T97 Hd gg FaY @ -
._ 3

Assertion-Reason Based Questions :

~ In the following questions (19 & 20) there are two statements : ﬁssgrﬁnn (A) and

Reason (R), answer the question by choosing the appropriate option given below :

19. YT (A) : T A {12345}w¢ﬁmﬁaﬂaaR—{(a b),|a_b|<2
@ (reflexive) ) Bl - ' | 1

FRT (R) : Fc’ﬁ{ﬁ =g AW qfie dey R ¥y (rcﬂcxiﬁe) heIdl %, I (a, b) € R
.I(-[e;n{b,c)ER ﬁ{a,c]ERFiFﬁ'@[

(A)  STRERE (A) T HROT Ryﬁﬁ‘fﬂﬁ%aﬂrzﬁﬁﬂr(maﬁwm)qﬁﬂaam%g
(B) W(A)@W(Riﬁﬁaﬁf%aﬂrwm)aﬁﬁm A)a‘irﬁaamq-a%{
(C) Gﬁiﬁ?ﬁﬂlﬂé’f% %W(R}W%l

(D) SR (A) T €, By FRer (R) @@ R

s

1232/(Set : C) |
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) | . 1232/(Set : C)
Assertion (A) : Arelatmn R={a, b} la- bl < Q}lﬁcﬁned on the set A= {1, 2, 3, 4, 5

1s reflexive. . m
. | g -
Reason (R) : A_ relation R on the set A is said t@]be reflexive if for (a, b) € R an‘d'
(b, ¢ € R, we have (a, ¢) € R. U. .

(A) Both Asscrtion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).
(B) Both Asscrtion (A) and Reason (R) are ue and Reason R] is not the

. correct explaﬂatimn of Ass&rtidﬁ (A).

6237::’5 --

(C) Assertion (A] is true but Reasnn (R) is fals%\l.)

(D) Assértiqn (A) 1s false:, but'Reasnn (R) is true.

O |“lu

20. G???IE:'EFT(A) G @At X+l _Y-2 240 X1 _Y+2_2-3 3 a9 g @
90°%| - nl 1

FNT (R) : ﬁﬂﬁﬁ?ﬂﬁi@mﬁﬁﬂaﬁﬁﬁaﬁm%%ﬁwmwﬁaﬁaﬁ%

(A) W(A)kq I R]ﬁﬂ‘eﬁ%amwm) e%ﬁqzﬁerrr(maﬁagram%t

‘{B) aﬂlﬁiﬁﬁ(ﬁ)@w ﬁﬁ%ww@ GTﬁ:IEEﬂ?[(A ﬁﬂé“ra@?{é’f%

(C) exﬁﬁﬁaﬂ(mﬁtﬁ% %W(R)ﬂﬂa%z

C262

(D) aﬁwmw%,ﬁﬂaﬁm(ﬁ)aﬁ}%n

1232/(Set:iC) = o5 - % - ey PETEE.
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1232/(Set : )

(12)

. : , 5 . x+,1_y—2;z+3.and

Assertion (A) : The a'(ﬂglg- between the straight lines > ___——5 . 4 |
; - N . : |
_'E:,l :r‘\ly_LQ_ - z -3 is 90°. |
1+ O 2 -3
N | . |
Reason (R) : Skcw Iir‘i%s are lines in different planes-whlch are parallc_l and
intersecting. |

(A}- Both Asscrtion (A) and Reason (R) are true and Reas:::n (R) i_s the correct

f:xplanatmn of. Aﬁfzrtmn (A).
M _

(B) Bﬂth ASSCI‘LIGH EB] and REHSGI] (R] are true and Reason (R) is not the
~correct: explanah%n of Assertmn (A) |

(C) Assertion (A) is true, but Reason ,{R) is false.

(D) Assertion (4) is false, bﬁt-Re@son (R) is true.

* i - #
- L I.I'-' -' - .
L “T-
i i gl ;
4 [l ll? ol
Ll L
a L]
" H
i
1 ' i i
. a
;
i ;

- @®-g
'SECTIDNI-—'B A
P(Auﬂ)mﬁﬁm EIﬁIQP(A} p(Bj @TP(A/B)_=§, N
Evaluate P(AuB}, if LGTJ{A} B] B and PWB)‘% |
| | ._@__, Tl W

22. A ARC B f: R > Bfx) = sin x 1 g2 R R, gx = x> & RICHEE % & g
T gof = i fwmy R | | - | ’

———

" fog #: gof
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(13) o 1232/(Set : C)
' i ' | L2
Let f: R - R be defined b}_,r flx) = si{LEx and g :'R — R be defined b}.r g[x] = X

e Y
then find fog and gof. Show that: .

N
Jog ® gof

A 3T T

Find the valug of'; '.

cos™! ] +2sin™! l
4 2
23. AR a=| 5% SO & B et wiftm R o g L w O g
' —sm0 - cos| | % . , - | |
s M
A'MN=T
R,
- - - i A N |
" JL | 2086 . eimb , then verify LhaLr)
—-sin® cosO -

1232/(Set:c) | ﬁ . e e R e el

' E S d with OKEN Scanner
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. 84y . 1232/(Set : C)
24 3 i o B ) . 2

P,

¢ 1'1_1 Jl—c@é‘x T el T el _ | ._
a B = = - | .
1+co8 x | % 4

Différentiate 0 i ST

2 s
25. Hﬂﬁaﬁﬁqﬁﬁqﬂ?xy—mgymmm dy lfxy,(xy;al).cm-am_%y

Vérify that tﬁle' function xy = log y + c1s a solution of th;e differential equation

.'i@n

Wﬂﬁ?ﬁ{w = (14 x2 ][1+y ) CblLd}-qufh E’Ef%lﬁiﬁ’rﬁltu

Find thf: general sc}lutmn of d1fferentlal equatmn j—- 1+ x )[1 e y )
. X .
1202/(Set : C) SRR | LTSI o ar e LS
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(15) - 1232/(Set : C)
Tp) - "
~ - '
” s~
o
~ SECTION-C
) |
26. TR HIRT o 3
i _[ - .tanx e
I~ Jsinx.cosx
' N
Integrate :© \O
_ N
O
x T
sin x. COS X

5 OR
A BT
o
x(x* 1)
Integrate :
1 | - |
:f I 7 dx I -
Y
N
| . N e =
27. ) &R W T BN, AR (20 +67 +27K)x (i + Af +pk) =T | - 3

Find A and p, if {25+6}+27E]x(f+h}+g£]=(_j’,l

1232/(Set : C) " P.T:O

2
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(16) 1232/(Set : C)
28. g Fif % aoed Bl @ 9=1 A §, R = (T}, T) ; le%g%lmqﬁmfﬁﬁ
HY R TH oA HaY 2 * 3

T e s &

- Show that the relation’ R defined in thef‘aet A of all triangles as R = {(T;, T‘;} 4

Ty is similar to 715}, is equivalence relatlcgﬁ : |

O

N
O

SUC

OR

Write the following function in simplest form :

2 3 '
-1l 3a“x - x -a a
tan { J,E}O;-—{x{—_

a~ —3ax

29. Wﬁﬂ%mﬁm% Qzﬁtrqamgwcm”msﬂ%razsugwww'
' %ngﬂ?aﬁﬁw%qﬁaﬂﬂﬁﬁmaﬁﬁmmﬁwwcm%n . 3

A balloon, which always remains sph@cal on mﬂatmn is being inflated by

pumping in 900 cubic centlmeters of gaé)per second. Find the rate at which the

radms of the balloon increases, when the rachus 1s 15 em.

_ _ ’ L ' '
n
SR e ﬁ 50, (23 - NGB
i L | . . ey |
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by - (17) | 1232/(Set : C)
30. I} A= —2 O | |
4 _o Gﬂ?f:g 1,GTTEEAgz_KA—QI%,E?rKanMsunWI 3
_ f N
S <9 L e |
If A= ey @1 .. .. |
A 4  _ and I=| « _|, find K, so that A% = KA-2I.
i 2 0w 1
= -
vt :
O
Kcosx zﬂ‘a‘ e
Sl. K I AW s A, @ sed B flx) =4 T-2% 2 g x=2 W
4 3 ’ i ,JC‘:E ! 2
; g
Had B 3
, r.”j | N L (K cosx _ T
. . o . - , 1 x#—=
Find the value of K, sgj that the function flx)={ ®—2x 2
o) ; T
. , 1f =—
_ , 0 o | P 2
1s continuous at ng. y | -
ui
|qus -7
"SECTION-D
32. %@r&,ﬁﬂ%aﬁﬂﬂtﬁwﬁﬂﬁmﬁ%%aﬂaaﬁwﬁmﬁm: 5
g " s 3 2
"='!})+9J+3k+_7%(1—3j+2k]
™
3 ?f—\lﬂrl +5J+6k+u(21+31+k)
Find the shortest distance t&w&an the lines whmse vector equations are.:
?—f 2j+3k+l(t—3J+2k} '
and r—-41+5;+6k+p(2:+3;+k] -
1232[(5&1;:(:) ﬁ : 1) - *?F’T' @) .
| i | ;
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91g)  1232/(Set: C)
?\&m?ﬂ '

| NOH
|, Res ke e ﬁﬁ%ﬁﬂﬁ% %Eﬁaqﬁwg‘&mqﬁm
F=(—t)h+(t-2)]+(3-2t)k

AR F=(s+ 1) (2s-1)j-2s+1)k

Find the shortcst distance between@he lines whose vector equations arc :
No,
7 = (1) {(:gt._g)j+(3 _Qt)k
and ¥ = (s+1)f+(25—1)ju(2541)15'

33. WWWWW%%&@W%EHW , . 5
x4 y+z="1; |
| 3::”.
Qs G ot
x. Yy 3.2- |

3y — 53.=-9 |

Solve the following system of linear equations, Liéirig matrix method -
2x¥ g+ z=1;
X—-2Yy—-z=—:
2
3y-5z=0

34. FAfEd Mies H-Hlth@lﬂ q_?l 1TI'FT Bl EE_)H\:?[E{ | e, = : | | 5
s E r-- .

Jlﬂg@ tan x)dx

0 .
Evaluate the following definite inteé}al :

" 1

g o= t_..-hl'.:i

lﬂg@ﬂan .?C) e .. R

i J ,-* .,:' ]
2 ""' e oy e Ca _..I . T . malet
1232’(331: . C) l iy - . v - | F70 ¢ e a4
; . ' ' i yal e SRl Ala e e
» : o o |
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(19) 1232/(Set : C)
HY][

OFLD

f‘ﬁﬁ 9x° +4y° =36 § R A = Pdﬂw%ﬁr I

Find the area of the regiﬂn bounded by ‘L‘he ellipse 0% + 4y =86,

35. = G & Sl z = Sx + 10y H FATHEHT qT SHRHTHHT HIOTY . 5
X+ 2y=s.120, X+ y=260, x-2y=0, -.x-EO y=0

Minimize and maximize z = 5x + 10y sub_]ect to constraints :

x+ 2y <120, x+y}60 LX} Qy}O x20,y=20

w2y
SECTION = E

36. WF@ﬁTSWﬁTﬁr ﬁ%ﬁﬂﬁ@ﬁmﬁﬁﬁ%ﬁ?ﬁ%t T AT o GifEr 3
AT B BT DI AEHA FAM: 30%, 25% AR 45% 1 W, Aeq o) qfmr ax
Sl FITRRT] SFH: 1%, 1.2% & 2% - Ie =
1232/(Set : C) P O
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(20) 1232/(Set : C)
STURT SR 3 ST X Frfiad wet & Suv G
' . ™M

ﬂ

| ©
() 5T B BT FA H A B A KA MEHA A BTN 2

i) IR 9T W e ReF &N wﬁww%aﬂTaﬂﬁﬂgﬁgﬁﬁ;ﬁrmmWﬁﬁ

yed 9 BT &7 Tl (AT TR B 2

2062375

In a school, teacher asks a question to three Students Ravi, Mohit and Sonia.
The probability of solving the question by Ravi, Mohit and Sonia are 30%, 25%
and 45% respectively. The pmbabilit’jr of nllaki.ng- érrc:_nr by Rauvi, Mohit and Sonia

are 1%, 1.2% and 2% respectively.

Based on the above mfurmatmn answer the follmwmg questmns :
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(i) Fmd the tntal probabﬂlty c:f cnmmltfmg an error in sc:lvlﬁg the Eluesilzlon
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i) If tl o
(11) he solution of question 1so@hecl{ed by teacher and has some error, then

fi
nd the Prﬂbabﬂlty that the t'(‘fﬁlestmn is not solved by Ravi.
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Let a cone is inscribed in a sphere of radius R. The height and radius of conc arc

hand r respectwely E

T
N
L
N

On the basis of above information, answer the ﬂlﬂﬁdng questions :
(i) Write the relation between rand Rin terms-of x.
(i) Write the volume V of the cone in terms of (R and Xx.

(iii) Show that volume V of the cone is maximum, when x =—.

bt

If volume V of the cone is maximum at x=-§-, then find the maximum

OR

value of V and find the ratio of volume of cone and volume of sphere, when

volume of cone 1s maximum.
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Polio drops arc dehvered to 50 K ch11dren in a dlstru::t The rate at which polio

drops are given is d1rect1y pmpartmn&l ito the number of ch11dren who have not
['*m

been administered the drops By the (énd of 2nd week, half the children have

(N

been given the pﬂlm drt::-ps How many\ill have been given the drops by the end
(N

.;.f 3rd week can be n:st1mgted using| ,phr: s-:::luhnn to the dlfferenmal equatmn

Bt e e i . |
E_;E_MS Yy), where x denotes the number of weeks and the y number of

Children'WhD have been given the drops, -~ = | .- ¢
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Based on the above information, ans‘b&r the fmllﬂwmg questmns

(i) State the order of the above dlffaﬁnual equatmn

[ii Which mcthod of ‘solving a d%erentml equatmn can ‘be used to solve

ay S O
= M50 - ) )
¢c ( y] I .I.. i I-. E Pl

(ii) Solve the differential equation: . . .
Y _ (50~ y) |

- dX
OR

If A = 0.049 and y(0) = 0O, then find the particulai‘ solution of diff&rential

equation.
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